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BHPFRIZHE T ORI R R ERR

e : 4854
SHSEE
B A - X iR I AEEATRY—ANEER) | e i
5¢m 50c¢m 100cm
Ot ER (1) 0.08 0.08 — PA-1000
QB IGFT1 0.07 0.06 — PA-1000
QK EFEED 0.09 0.08 — PA-1000
@ EREED 0.07 0.08 — PA-1000
18 (X B @ffs:crﬁﬁi‘&rs 0.05 0.05 — PA-1000
OREILTED 0.07 0.08 — PA-1000
DEREE 0.07 0.08 — PA-1000
@K IZFT2 0.06 0.06 — PA-1000
OfEL 0.09 0.07 — PA-1000
fibis 0.07 0.07 — PA-1000
Ot ER (1) 0.09 0.08 — PA-1000
QIEERIZAT1 0.08 0.06 — PA-1000
QK ETEEB 0.07 0.07 — PA-1000
@ EREED 0.07 0.07 — PA-1000
" O BER R ED 0.06 0.06 — PA-1000
7/26(R )R OREILERE 0.07 0.08 — PA-1000
@EREE 0.07 0.07 — PA-1000
@K IZEFT2 0.04 0.05 — PA-1000
OfIEL 0.07 0.08 — PA-1000
whi5 0.06 0.06 — PA-1000
2/24 (34-733)



BHPFRIZHE T ORI R R ERR

N e : 4854
H24E
B A - X iR I AEEATRY—ANEER) | e i
5¢m 50c¢m 100cm
Ot ER (1) 0.07 0.08 — PA-1000
QB IGFT1 0.07 0.07 — PA-1000
QK EFEED 0.07 0.09 — PA-1000
@ EREED 0.07 0.08 — PA-1000
10/2(2) B @ffs:crﬁﬁi‘&rs 0.05 0.05 — PA-1000
OREILTED 0.07 0.07 — PA-1000
DEREE 0.07 0.07 — PA-1000
@K IZFT2 0.06 0.07 — PA-1000
OfEL 0.07 0.08 — PA-1000
fibis 0.06 0.07 — PA-1000
Ot ER (1) 0.06 0.07 — PA-1000
QIEERIZAT1 0.05 0.06 — PA-1000
QK ETEEB 0.08 0.08 — PA-1000
@ EREED 0.08 0.08 — PA-1000
" O BER R ED 0.05 0.06 — PA-1000
/18O OREILERE 0.08 0.08 — PA-1000
@EREE 0.06 0.07 — PA-1000
@K IZEFT2 0.05 0.07 — PA-1000
OfIEL 0.07 0.08 — PA-1000
whi5 0.06 0.07 — PA-1000
3/24 (34-233)



BHPFRIZHE T ORI R R ERR

e : 4854
314
B A - X iR I AEEATRY—ANEER) | e i
5¢m 50c¢m 100cm

Ot ER (1) 0.06 0.08 — PA-1000
QB IGFT1 0.06 0.07 — PA-1000
QK EFEED 0.06 0.08 — PA-1000
@ EREED 0.05 0.05 — PA-1000

10/2 K B @ffs:crﬁﬁi‘&rs 0.08 0.08 — PA-1000
OREILTED 0.08 0.07 — PA-1000
DEREE 0.07 0.08 — PA-1000
@K IZFT2 0.05 0.06 — PA-1000
OfEL 0.07 0.08 — PA-1000
fibis 0.06 0.06 — PA-1000
Ot ER (1) 0.08 0.09 — PA-1000
QIEERIZAT1 0.06 0.07 — PA-1000
QK ETEEB 0.09 0.09 — PA-1000
@ EREED 0.10 0.09 — PA-1000

416 (IO BE I @*::arﬁﬁiﬁﬁ 0.05 0.08 — PA-1000
OREILERE 0.08 0.07 — PA-1000
@EREE 0.07 0.08 — PA-1000
@K IZEFT2 0.05 0.05 — PA-1000
OfIEL 0.07 0.08 — PA-1000
whi5 0.07 0.07 — PA-1000

4/24 (34-733)



BHPFRIZHE T ORI R R ERR

e : 4854
S R 304F B
HI=F N N
B A - X iR I AEEATRY—ANEER) | e i
5¢m 50c¢m 100cm

Ot ER (1) 0.08 0.09 — PA-1000
QB IGFT1 0.06 0.06 — PA-1000
QK EFEED 0.08 0.08 — PA-1000
@ EREED 0.09 0.10 — PA-1000

10/2 (X EE AL @ffs:crﬁﬁi‘&rs 0.06 0.06 — PA-1000
OREILTED 0.07 0.08 — PA-1000
DEREE 0.08 0.08 — PA-1000
@K IZFT2 0.06 0.06 — PA-1000
OfEL 0.08 0.08 — PA-1000
fibis 0.07 0.08 — PA-1000
Ot ER (1) 0.10 0.09 — PA-1000
QIEERIZAT1 0.08 0.07 — PA-1000
QK ETEEB 0.09 0.08 — PA-1000
@ EREED 0.08 0.08 — PA-1000

4710 (IO BT O ERRED 0.08 0.07 — PA-1000
OREILERE 0.08 0.07 — PA-1000
@EREE 0.08 0.08 — PA-1000
@K IZEFT2 0.05 0.05 — PA-1000
OfIEL 0.12 0.08 — PA-1000
whi5 0.07 0.08 — PA-1000

5/24 (34-733)



BHPFRIZHE T ORI R R ERR

e : 4854
S 294
HI=F N N
B A - X iR I AEEATRY—ANEER) | e i
5¢m 50c¢m 100¢cm
Ot ER (1) 0.08 0.09 — PA-1000
QB IGFT1 0.06 0.07 — PA-1000
QK EFEED 0.08 0.09 — PA-1000
@ EREED 0.08 0.07 — PA-1000
10/3 (1) Y O ERRED 0.06 0.06 — PA-1000
OREILTED 0.08 0.08 — PA-1000
DEREE 0.06 0.07 — PA-1000
@K IZFT2 0.07 0.08 — PA-1000
OfEL 0.10 0.08 — PA-1000
fibis 0.08 0.07 — PA-1000
Ot ER (1) 0.08 0.09 — PA-1000
QIEERIZAT1 0.07 0.07 — PA-1000
QK ETEEB 0.08 0.08 — PA-1000
@ EREED 0.08 0.09 — PA-1000
" O BER R ED 0.04 0.05 — PA-1000
14 (@) Hn OREILERE 0.08 0.07 — PA-1000
@EREE 0.07 0.08 — PA-1000
@K IZEFT2 0.06 0.06 — PA-1000
OfIEL 0.16 0.12 — PA-1000
whi5 0.08 0.08 — PA-1000
6/24 (34-733)



BHPFRIZHE T ORI R R ERR

e : 4854
S k28 4F
B A - X iR I AEEATRY—ANEER) | e i
5¢m 50cm 100¢cm
Ot ER (1) 0.08 0.09 — PA-1000
QB IGFT1 0.06 0.08 — PA-1000
QK EFEED 0.09 0.10 — PA-1000
@ EREED 0.08 0.07 — PA-1000
. O ERRED 0.05 0.06 — PA-1000
10/4 (R OREILTED 0.09 0.08 — PA-1000
DEREE 0.07 0.08 — PA-1000
@K IZFT2 0.05 0.05 — PA-1000
OQfliE £ 0.01 0.09 — PA-1000 FRE28F10 BRI A DIEM
fibis 0.07 0.08 — PA-1000
Ot ER (1) 0.07 0.09 — PA-1000
QIEERIZAT1 0.05 0.07 — PA-1000
QK ETEEB 0.09 0.12 — PA-1000
@ EREED 0.06 0.08 — PA-1000
4/19CR N |OKERELE 0.04 0.06 — PA-1000
OREILERE 0.09 0.09 — PA-1000
@EREE 0.12 0.13 — PA-1000
@K IZEFT2 0.05 0.07 — PA-1000
whi5 0.07 0.09 — PA-1000
7/24 (34-233)



BHPFRIZHE T ORI R R ERR

e : 4854
K274
B A - X iR I AEEATRY—ANEER) | e i
5¢m 50c¢m 100¢cm

Ot ER (1) 0.12 0.11 — PA-1000
QB IGFT1 0.07 0.08 — PA-1000
QK EFEED 0.09 0.09 — PA-1000
@ EREED 0.08 0.08 — PA-1000

10/2(£) BN |OKRERERLE 0.06 0.06 — PA-1000
OREILTED 0.09 0.08 — PA-1000
DEREE 0.08 0.09 — PA-1000
@K IZFT2 0.06 0.06 — PA-1000
fibis 0.08 0.09 — PA-1000
Ot ER (1) 0.08 0.09 — PA-1000
QIEERIZAT1 0.07 0.07 — PA-1000
QK ETEEB 0.10 0.10 — PA-1000
@ EREED 0.11 0.11 — PA-1000

4/21CREY | OKREREEE 0.07 0.07 — PA-1000
OREILERE 0.08 0.09 — PA-1000
@EREE 0.11 0.12 — PA-1000
@K IZEFT2 0.06 0.07 — PA-1000
whi5 0.09 0.09 — PA-1000

8/24 (34-733)



BHPFRIZHE T ORI R R ERR

ATiEHh : 1854
S R 26 S B =% =
= h gl AlEE (X400 —N)LERF) o
/ﬂ“ﬂiE 961'; /,E\I]IEi‘m,ﬁ“ 5cm 50¢m 100¢m /ﬂ“l‘E%g 1%%
Db DL ER (1) 0.07 0.09 — PA-1000
QIBERIFAT 1 0.06 0.07 — PA-1000
QREFER 0.07 0.09 — PA-1000
D BErE SR 0.08 0.10 — PA-1000
1/6 () OREREED 0.06 0.07 — PA-1000
OREILFTED 0.07 0.10 — PA-1000
DEREHE 0.08 0.11 — PA-1000
@R ERIGFR2 0.07 0.07 — PA-1000
Fhi% 0.10 0.10 — PA-1000
O L ER (1) 0.10 0.11 — PA-1000
Q1B ERIGFT 1 0.07 0.07 — PA-1000
QR EEFE SR 0.11 0.11 — PA-1000
@ EErIER 0.10 0.10 — PA-1000
10/2(R)EN  |OREREES 0.06 0.06 — PA-1000
OREILTED 0.08 0.09 — PA-1000
DEERE 0.10 0.12 — PA-1000
@RISR 2 0.07 0.08 — PA-1000
fbi5 0.08 0.10 — PA-1000
Db ER (1) 0.08 0.11 — PA-1000
QB & I5 T 1 0.06 0.07 — PA-1000
QREEFER 0.08 0.09 — PA-1000
D BErEER 0.08 0.11 — PA-1000
71 (BN |OREREER 0.07 0.07 — PA-1000
@®REEILFER 0.07 0.08 — PA-1000
DERERE 0.10 0.11 — PA-1000
@R ERI5FT2 0.06 0.07 — PA-1000
b i5 0.07 0.09 — PA-1000
Ot hLER () 0.11 0.13 — PA-1000
(QIBERIZART 1 0.07 0.07 — PA-1000
QBT SR 0.10 0.12 — PA-1000
R D BERED 0.09 0.10 — PA-1000
HBLRBN 1o Emmas 0.06 0.07 — PA-1000
OREILTER 0.10 0.11 — PA-1000
DEBEHE 0.18 0.17 — PA-1000
@R ERIGFR2 0.07 0.09 — PA-1000
b5 0.09 0.10 — PA-1000
9/24 (24-243)



HBHPERICEITOMHFAREAERR
AR E ik : 1854
S k254
HI= S e =

B H KR B S AERA7E—VEBR)._ | ges %
O h i ER (1) 0.10 0.12 — PA-1000
QIR ERIHFT 1 0. 06 0. 07 — PA-1000
QI EFEED 0.10 0. 11 — PA-1000
O R 0. 09 0.10 — PA-1000
3/1%%ﬁ) O ErR R ED 0. 05 0. 06 — PA-1000
OREITE 0.08 0. 09 — PA-1000
DEREE 0. 20 0. 16 — PA-1000
@R IZFT2 0. 06 0. 08 — PA-1000
ibis 0. 07 0. 08 — PA-1000
Ot b ER (1) 0.13 0.12 — PA-1000
QIR IZFT 1 0. 06 0. 06 — PA-1000
QL EFEEB 0. 09 0.10 — PA-1000
@ EErRIBD 0. 09 0. 09 — PA-1000
2/%%*) O ER R ED 0. 07 0. 07 — PA-1000
OEILEED 0. 08 0. 09 — PA-1000
DERELE 0.19 0.16 — PA-1000
@R IZFT2 0. 07 0. 08 — PA-1000
i 0. 08 0. 08 — PA-1000
Ot b ER (1) 0. 09 0.10 — PA-1000
QIR IZAT 1 0. 06 0. 07 — PA-1000
ORBETEE 0. 09 0.10 — PA-1000
ER264 @ BERED 0. 09 0. 09 — PA-1000
1/1£4(k) OER R ED 0. 06 0. 07 — PA-1000
An O EEILEER 0. 11 0. 11 — PA-1000
DEREE 0.10 0. 11 — PA-1000
@R EXIHAT2 0. 10 0. 11 — PA-1000
ibi5 0. 09 0. 10 — PA-1000

10/24 (34-223)



HBHPERICEITOMHFAREAERR

S e : 4854

: . : AEIE (470 —R LA EEF) :

BI%E B - XIx B E Hh = BIE R S

5cm 50cm 100¢cm

O h i ER (1) 0.12 0.12 — PA-1000
QIR ERIHFT 1 0. 06 0. 07 — PA-1000
QI EFEED 0. 08 0. 09 — PA-1000
O R 0.08 0. 09 — PA-1000

12/%?,53?) O ErR R ED 0. 15 0. 11 — PA-1000
OREITE 0. 09 0. 08 — PA-1000
DEREE 0. 09 0. 11 — PA-1000
@R IZFT2 0. 09 0. 09 — PA-1000
ibis 0. 08 0. 09 — PA-1000
Ot b ER (1) 0.10 0. 11 — PA-1000
QIR IZFT 1 0. 06 0. 07 — PA-1000
QL EFEEB 0. 11 0. 11 — PA-1000
@ EErRIBD 0. 09 0. 09 — PA-1000

11/;%3(*) O ER R ED 0. 05 0. 06 — PA-1000
OEILEED 0. 08 0. 09 — PA-1000
DERELE 0. 09 0. 11 — PA-1000
@R IZFT2 0.12 0.10 — PA-1000
i 0. 09 0.10 — PA-1000
Ot b ER (1) 0. 09 0.10 — PA-1000
QIR IZAT 1 0. 06 0. 07 — PA-1000
ORBETEE 0. 11 0.12 — PA-1000
O R 0. 08 0. 09 — PA-1000

10/%3(*) O ERRED 0. 06 0. 07 — PA-1000
@ EILEED 0. 09 0. 09 — PA-1000
DEREE 0.10 0.12 — PA-1000
@R EXIHAT2 0. 07 0. 08 — PA-1000
ibi5 0. 08 0. 09 — PA-1000

11/24 (34-223)



HBHPERICEITOMHFAREAERR
S e : 4854
HI= S e =
B B - TR BT AUEIB(X 70 —VEEE) | ga %
5cm 50cm 100¢cm
O h i ER (1) 0. 11 0. 11 — PA-1000
QIR ERIHFT 1 0. 06 0. 08 — PA-1000
QI EFEED 0.12 0.12 — PA-1000
O R 0. 09 0. 09 — PA-1000
9/;,5*) O ErR R ED 0. 07 0. 08 — PA-1000
OREITE 0.08 0. 09 — PA-1000
DEREE 0. 10 0.13 — PA-1000
@R IZFT2 0. 07 0. 08 — PA-1000
ibis 0. 09 0. 11 — PA-1000
Ot b ER (1) 0. 09 0. 11 — PA-1000
QIR IZFT 1 0. 06 0. 07 — PA-1000
QL EFEEB 0. 11 0. 11 — PA-1000
@ EErRIBD 0.14 0.13 — PA-1000
8/%9;1’%) O ER R ED 0. 11 0.10 — PA-1000
OEILEED 0. 11 0. 11 — PA-1000
DERELE 0.22 0. 22 — PA-1000
@R IZFT2 0. 06 0. 08 — PA-1000
i 0. 09 0.10 — PA-1000
Ot b ER (1) 0. 09 0.10 — PA-1000
QIR IZAT 1 0. 06 0. 06 — PA-1000
ORBETEE 0.08 0. 07 — PA-1000
2 8(A) O R 0. 11 0. 11 — PA-1000
=1 OER R ED 0. 09 0. 09 — PA-1000
@ EILEED 0. 09 0. 09 — PA-1000
DEREE 0. 11 0. 11 — PA-1000
@R EXIHAT2 0. 08 0. 08 — PA-1000
ibi5 0. 09 0. 09 — PA-1000
12/24 (34-223)



HBHPERICEITOMHFAREAERR
AR E ik : 1854

S k254

P e BIEME (w470 —N)LRER) -

/ﬂ“ﬂi H 961'; /,E\I]IEi‘m,ﬁ“ Sem 50cm 100¢m /ﬂ“l‘E%g 1%%
O h i ER (1) 0.13 0. 11 — PA-1000
QIR ERIHFT 1 0. 05 0. 06 — PA-1000
QI EFEED 0. 11 0.10 — PA-1000
O R 0. 07 0.10 — PA-1000

6/;%:5)%) O ErR R ED 0. 07 0. 08 — PA-1000
OREITE 0. 11 0.10 — PA-1000
DEREE 0. 09 0.12 — PA-1000
@R IZFT2 0. 11 0.10 — PA-1000
ibis 0. 08 0.10 — PA-1000
Ot b ER (1) 0. 11 0.13 — PA-1000
QIR IZFT 1 0. 05 0. 06 — PA-1000
QL EFEEB 0.13 0.12 — PA-1000
@ EErRIBD 0. 07 0. 08 — PA-1000

5/%%*) O ER R ED 0. 07 0. 08 — PA-1000
OEILEED 0. 09 0.10 — PA-1000
DERELE 0.18 0. 18 — PA-1000
@R IZFT2 0. 06 0. 08 — PA-1000
i 0. 08 0. 09 — PA-1000
Ot b ER (1) 0. 09 0.10 — PA-1000
QIR IZAT 1 0. 06 0. 07 — PA-1000
ORBETEE 0.14 0.13 — PA-1000
O R 0. 07 0. 08 — PA-1000

4/;%%@) OLFEER 0. 06 0. 08 — PA-1000
@ EILEED 0. 08 0. 09 — PA-1000
DEREE 0.27 0. 25 — PA-1000
@R EXIHAT2 0. 09 0. 10 — PA-1000
ibi5 0. 09 0. 10 — PA-1000

13/24 (34-223)
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15/24 (34-2A3)



r=hadrs [ — £ = B == 4+
%#*EP—-:LMJoHéﬁﬂz%ﬁﬁa,ﬂﬂm-‘ﬁn%
FrFEHb : #854
T pf244E
B == _ N =] ~,EIIITHE{IE(7’(7“:/_’{}[/"%5#) Bl ==
I = KA SHI =1 4 SH
1FERT (BA) — 0. 07 0. 08 PA-1000
2FHE(BA) — 0. 07 0. 07 PA-1000
3/14(K) 2Y |3Fr%=E(BR) — 0. 08 0. 07 PA-1000
AFEE(BIN) — 0. 07 0. 07 PA-1000
AEEE — 0. 04 0. 05 PA-1000
OBib i ER (1) 0.10 0.12 0.12 PA-1000
Qthi5 0. 09 0.10 0.10 PA-1000
=, |OKERED 0. 13 0.13 0.12 PA-1000
SANR) B [0 0. 12 0. 12 0.13 PA-1000
O ES 0. 11 0. 09 0. 09 PA-1000
OREILTER 0. 09 0. 10 0. 09 PA-1000
OBib b ER (1) 0.14 0.12 0.13 PA-1000
Q15 0. 08 0. 10 0. 10 PA-1000
=, |QOKERED 0.11 0. 10 0. 09 PA-1000
27180K) B (0% Eman 0.10 0. 11 0. 11 PA-1000
O ES 0. 06 0. 07 0. 07 PA-1000
GREILTER 0. 09 0. 09 0. 11 PA-1000
1FEO(BRN) — 0. 08 0. 07 PA-1000
QFE=E(BR) — 0. 08 0. 08 PA-1000
260k) M [3F#HE(BN) — 0. 07 0. 08 PA-1000
IFHE (BR) — 0. 06 0. 09 PA-1000
AEEE — 0. 04 0. 03 PA-1000
OEth i ER (1) 0.10 0.13 0.12 PA-1000
Q5 0. 08 0.10 0. 10 PA-1000
QR BETa &R 0. 08 0. 09 0.10 PA-1000
E
17230K) B @R EERER 0. 09 0. 11 0. 09 PA-1000
O ES 0. 11 0.12 0.12 PA-1000
OREILFED 0. 10 0. 09 0. 10 PA-1000
16/24 (34-2A3)



=445 — + N
%#*EP——:LMJoHéﬁﬁz%ﬁﬁ%iﬂﬂiﬁ%
FrFEHb : #854
T pf244E
T o R AC eI IS 5)) .
il N | SHI =1 4 =
1FEFEAO(BN) — 0. 08 0. 08 PA-1000
o 2QFHE (BA) — 0. 07 0. 07 PA-1000
1/135(%5?&5%“ FRE(EW) — 0.08 0. 07 PA-1000
AFEE(BIN) — 0. 08 0. 07 PA-1000
AEEE — 0. 04 0. 04 PA-1000
1FEO(BRN) — 0. 08 0. 08 PA-1000
FHEE(BA) — 0. 06 0. 07 PA-1000
12712(K) BN |3FEE(BA) — 0. 08 0. 08 PA-1000
AFHE (BA) — 0. 06 0. 07 PA-1000
AEE — 0. 05 0. 04 PA-1000
Ot ch D ER (L) 0. 11 0.12 0. 11 PA-1000
Qs 0. 08 0.10 0. 10 PA-1000
Ly pes |ORBEEFRED 0. 11 0. 11 0. 10 PA-1000
1271101 B @R BEFER 0. 11 0.10 0. 11 PA-1000
O E S 0. 07 0. 08 0. 08 PA-1000
O EILEIR 0. 10 0. 09 0.10 PA-1000
Db ER (1) 0. 09 0. 10 0. 11 PA-1000
Qs 0. 09 0. 11 0. 10 PA-1000
<. |OKREEFED 0. 10 0. 11 0.12 PA-1000
1/140K) B @R EERER 0. 11 0 12 0.10 PA-1000
O E S 0. 06 0. 07 0. 07 PA-1000
OREILFRED 0. 08 0. 10 0. 10 PA-1000
1FEFO(BRN) — 0. 08 0. 08 PA-1000
2FHE (BA) — 0. 07 0. 07 PA-1000
11.76(k) M |3F%E(BR) — 0. 07 0. 07 PA-1000
AFHE(BRN) — 0. 07 0. 07 PA-1000
AEEE — 0. 05 0. 03 PA-1000

17/24

(34-223)



[ ~ =R
HBHPAERIZEITOMIR=EANETR
AT TE 3 : 4854
F 244 =
= - g = AIEIE (X470 —N)LER) -
/ﬂ“ﬂiE 951'; /ﬂ']IEi‘mﬁﬁ“ 5cm 50¢m 100¢m /ﬂ“l‘E%g 1%%
1IFREOERN) — 0. 07 0. 08 PA-1000
QFAE(BA) — 0. 07 0. 08 PA-1000
10712(&) £Y [3F#%=(BRN) — 0. 08 0. 08 PA-1000
AFHE (BA) — 0. 07 0. 07 PA-1000
AEEE — 0. 04 0. 05 PA-1000
Ot ER () 0. 14 0. 13 0.12 PA-1000
Q5 0. 07 0. 08 0. 09 PA-1000
<, |OKREREED 0. 08 0. 09 0. 10 PA-1000
107100k) wn @ EErER 0.13 0.13 0.12 PA-1000
O ES: 0. 18 0.12 0. 10 PA-1000
@R EILERE 0. 09 0. 11 0.10 PA-1000
1FREOERN) — 0. 06 0. 07 PA-1000
2QFHE(BA) — 0. 07 0. 07 PA-1000
912(K) L [3F#%=E(BRN) — 0. 07 0. 07 PA-1000
AFHE(BEWN) — 0. 07 0. 06 PA-1000
AEE — 0. 06 0. 06 PA-1000
Db ER (1) 0. 08 0.10 0.10 PA-1000
%@i% 0. 08 0. 10 0.11 PA-1000
= ¥ BE 78 5B 0. 09 0. 09 0.10 PA-1000
S/10(A) B 1 e 0.12 0.13 0. 11 PA-1000
OREREED 0. 07 0. 07 0. 07 PA-1000
OREILFRED 0. 10 0. 11 0. 10 PA-1000
IFEEE(EWN) — 0. 07 0. 09 PA-1000
QFRE(BR) — 0. 08 0. 08 PA-1000
8./10(%) BN |3F&H=E(EBMRA) — 0. 07 0. 08 PA-1000
AFHE(BR) — 0. 07 0. 08 PA-1000
AEEE — 0. 05 0. 04 PA-1000

18/24

(34-223)



r=hadrs [ — £ = B == 4+
%#EF'—-M&L%Héﬁﬁz%ﬁﬁalﬂﬂm.‘ﬁn%
FrFEHb : #854
T pf244E
e — AEIE (A0 —NJU B o
s KA S = 4 [
OEth i ER (L) 0. 11 0.12 0.13 PA-1000
Qubiz 0. 07 0. 09 0. 10 PA-1000
- QR RETEER 0.10 0.10 0.10 PA-1000
8/9(X) W @R BEFER 0. 08 0.10 0.10 PA-1000
O E S 0.17 0. 11 0.10 PA-1000
OB FEIL EHER 0. 09 0. 09 0. 10 PA-1000
1FEEEO(BRN) — 0. 07 0. 08 PA-1000
+ 2FHE(BA) — 0. 07 0. 08 PA-1000
TR B s B — 0. 06 0.07 PA—1000
AEE — 0. 04 0. 04 PA-1000
Ot ch D ER (L) 0.12 0.13 0.13 PA-1000
Qs 0. 09 0. 11 0. 11 PA-1000
Ly nes |OBEFEER 0. 08 0. 07 0. 08 PA-1000
17100%) B @R BEFER 0. 15 0. 14 0.13 PA-1000
O E S 0. 08 0. 07 0. 08 PA-1000
O EILEIR 0. 08 0.10 0. 09 PA-1000
1FEFEO(BRN) — 0. 08 0. 08 PA-1000
2FHE (BA) — 0. 08 0. 07 PA-1000
6.715(&) B |3FHK=E(ER) — 0. 07 0. 07 PA-1000
AFHE(BRN) — 0. 08 0. 08 PA-1000
AEE — 0. 05 0. 06 PA-1000
Ot chHER (1) 0. 16 0.17 0. 15 PA-1000
Qw15 0. 07 0. 09 0. 10 PA-1000
=, |QOKERED 0. 09 0.10 0. 08 PA-1000
6/14(K) WO kEmm 0. 09 0. 09 0. 09 PA-1000
O ES 0. 07 0. 09 0.10 PA-1000
OB REIL T ER 0. 10 0. 11 0. 10 PA-1000
19/24 (34-2A3)



HBHPAERIZEITOMIR=EANETR
AT TE 3 : 4854

F 23~ 24 & =

= - g = AIEIE (X470 —N)LER) -

/ﬂ“ﬂiE 951'; /ﬂ']IEi‘mﬁﬁ“ 5cm 50¢m 100¢m /ﬂ“l‘E%g 1%%
IFERT (BA) — 0. 07 0. 08 PA-1000
QFAE(BA) — 0. 09 0. 07 PA-1000

5171(K) £Y [3F#E=(BRN) — 0. 07 0. 07 PA-1000
AFHE (BA) — 0. 08 0. 08 PA-1000
AEEE — 0. 05 0. 05 PA-1000
Ot ER () 0.12 0.13 0.13 PA-1000
Q5 0. 08 0. 09 0.10 PA-1000

=, |DREAEED 0. 11 0.10 0. 11 PA-1000

5/16(K) HEAL @ EErER 0.13 0.12 0. 11 PA-1000
O ES: 0. 07 0.10 0. 09 PA-1000
@R EILERE 0. 09 0.10 0. 11 PA-1000
1FREOERN) — 0. 07 0. 08 PA-1000

= PRFEE(ER) — 0. 08 0. 06 PA-1000

472008 EY IFH=E(BA) — 0. 08 0. 08 PA-1000
AFHE (EN) — 0. 07 0. 08 PA-1000
Ot b ER () 0.17 0. 15 0. 14 PA-1000 BAXRICKRERLZBISBRETIETEZEMLEL,
Q5 0. 11 0.13 0.13 PA-1000

4180K) Eh QREFED 0.15 0.14 0.12 PA-1000 BAXRICKRERTZHISRETIEEZEMLEL,
@ EErIER 0. 11 0. 11 0. 11 PA-1000 1"
O GES: 0. 09 0. 09 0. 10 PA-1000 I
OREILTER 0.10 0.12 0.10 PA-1000 I
1FREEOERN) — 0. 10 0. 09 PA-1000
FEE (BN) — 0. 09 0. 08 PA-1000

3/16(&) Bh [3F#%=E(BR) — 0. 08 0. 08 PA-1000
IFEE(BR) — 0. 07 0. 08 PA-1000
AEEE — 0. 05 0. 05 PA-1000
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/ﬂ“ﬂiE 961'; /ﬂ']IEi‘mﬁﬁ“ Sem 50cm 100¢m /ﬂ“l‘E%g 1%%
3/140K) BBh |5 0. 20 0. 22 0. 21 PA-1000 | #EE (RDIZLISYV) 1Z3 16 LIBEICRR 225 FELTLET
IFFEEOERN) — 0. 09 0. 09 PA-1000
2FHZE (BA) — 0. 09 0. 08 PA-1000
27150Kk) £Y [SF&%=E(BR) — 0. 08 0. 09 PA-1000
AFHE(BWN) — 0. 08 0. 08 PA-1000
AEEE — 0. 04 0. 05 PA-1000
O b ER (1) — 0. 22 0. 23 PA-1000
QHbi5 0.19 0. 20 0. 21 PA-1000
. |ORBEFEED — 0. 21 0. 20 PA-1000
2100 B — 0. 28 0. 25 PA-1000
OErRRED — 0. 26 0. 26 PA-1000
@REILERE — 0.27 0. 26 PA-1000
1FLEHR—IL (BA) — 0. 09 0.10 PA-1000
<, 2FEE(ER) — 0.10 0. 09 PA-1000
17180K) M FHE (BN) — 0. 09 0. 09 PA-1000
AFHE (BN) — 0. 08 0. 07 PA-1000
O b ER (1) — 0. 23 0. 23 PA-1000
Q5 0. 23 0. 24 — PA-1000
TR 244 QRBETEER — 0.22 — PA-1000
1/16(A) 2Y |@EErEs — 0. 31 — PA-1000
O ER R ED — 0. 34 — PA-1000
@R EIEE — 0.27 — PA-1000
Bt ER (L) — 0.27 0. 25 PA-1000
<. |5 0. 21 — — PA-1000
12715(F) Bl I B ~o 7 1 — 0. 34 — PA-1000
SEHERENT — 0. 64 — PA-1000
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1FEEO(BN) — — 0. 09 PA-1000
QFHE(EBMA) — — 0. 08 PA-1000
1271400K) £Y IBFH=E(BR) — — 0. 08 PA-1000
AFZBHIZE(EBA) — — 0. 09 PA-1000
shEEE — — 0. 09 PA-1000
IFEEE(EN) — 0. 09 — PA-1000
FREZRE(BRN) — 0. 10 — PA-1000
1./18(%) B
(&) #h 3F2-BH=E (BH) — 0. 09 — PA-1000
AFEME (BA) — 0. 09 — PA-1000
Eh b ER () — 0. 25 0.24 PA-1000
11./14 i3
/14(R) Bh s 0.19 — — PA-1000
10260K) BER Eh b ER () — 0.27 0. 25 PA-1000
fbi5 0. 21 — — PA-1000
1FHE(BN) — 0. 09 — PA-1000
FHE(BA) — 0.08 — PA-1000
IFHE(BMA) — 0. 09 — PA-1000
10200k) 2y |AEEER) — 0. 09 — PA-1000
Eih 1 — 0.24 — PA-1000
Eiho — 0. 36 — PA-1000
Hih3 — 0. 25 — PA-1000
EFEAE — 0. 26 — PA-1000
=, |ButdER (L) — 0. 26 0. 26 PA-1000
10719 21
/190K) &Y b5 0.27 — — PA-1000
b ER (1) — 0. 27 0.24 PA-1000
10712 i3
/120K) Ih i 0. 30 _ — PA-1000
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p:l - KA p: =1 ATE
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= Ehohi D ER () — 0. 25 0. 24 PA-1000

=l
10750K) &Y b5 0.19 — — PA-1000
+, B inER (LX) — 0. 31 0. 29 PA-1000
i [ 0. 23 — — PA-1000
= EhohiER () — 0. 32 0. 29 PA-1000

=l
s,22(%) &Y b5 0. 20 — — PA-1000
1F5E(BRN) — 0. 09 — PA-1000
QFHE(EBA) — 0. 09 — PA-1000
IFHE(EA) — 0. 09 — PA-1000
ARBEERN) — 0. 06 — PA-1000
9.7200:k) =Y |EHh1 — 0. 25 — PA-1000
EHiho — 0. 38 — PA-1000
EHi#h3 — 0. 36 — PA-1000
THE — 0. 26 — PA-1000
1EFHEAE — 0. 23 — PA-1000
+, |EhtLER () — 0. 29 0. 27 PA-1000
8/140K) BRHL w5 0. 25 — — PA-1000
- b ER (L) — 0. 23 0. 27 PA-1000
9/70K) HEh wis 0.16 — — PA-1000
b ER (L) — 0. 28 0. 26 PA-1000

0 Ny e
8/30(4) ERh wis 0. 20 — — PA-1000
1FEE (BIA) — 0. 08 — PA-1000
. 2FHE(EBA) — 0. 08 — PA-1000
8/26(%) EM 3FE (BM) _ 0. 08 — PA-1000
ABEEN) — 0. 07 — PA-1000
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a3 _ _
8. 240k) BN i ER () 0. 31 0. 29 PA-1000
b5 0.18 — — PA-1000
(3 _ _
8 170K) BN Eih b ER () 0. 26 0. 26 PA-1000
b5 0.22 — — PA-1000
(3 _ _
8.100k) EEh Eih b ER () 0. 28 0. 28 PA-1000
b5 0.22 — — PA-1000
(3 _ _
830K 8Y St ep DR (L) 0. 28 0. 29 PA-1000
fibi5 0. 21 — — PA-1000
(a3 _ _
110K 2Y Eh b ER (L) 0. 29 0. 28 PA-1000
fibi5 0. 26 — — PA-1000
(a3 _ _
121(K) 2Y Huthop DR (1) 0. 30 0. 31 PA-1000
fibi5 0. 26 — — PA-1000
77130K) Bn |BuhdbER (L) — 0. 38 0. 43 RDS-30
77600K) BEn |BuhdinER(x) — 0. 37 0. 34 RDS-30
6.7290K) BEn |BuhsiER (L) — 0. 36 0. 40 RDS-30
[\ _ _
6.220k) 2Y o ER (L) 0. 39 0. 38 RDS-30
b5 0. 26 — — RDS-30
234 B ER () — 0. 44 0. 33 RDS-30
6/150K) &Y |pig 0. 34 — — RDS-30
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